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Section A : MCQ (20 marks)
Questions 1 to 10 carry 2 marks each. For each question, four options are given. One of

them is the correct answer. Make your choice (1, 2, 3 or 4) and write the number of the
correct answer in the brackets provided. Also shade the oval (1, 2, 3 or 4) on the Optical

Answer Sheet.

1.  What is the value of the digit 3 in 1 356 ?

(1) 3000 (2) 300

(3) 3 (4y 30 ( )
2. 9+9+9+9+9+49+9= x9-9

(1) 6 (2 7

(3) 8 (4) 9 ( )

3. 85 hundreds and 12 tens is the same as

(1) 8512 (2) 8 520

(3) 8612 (4) 8 620 ( )

4. Which of the following numbers is between 9 795 and 9 900 ?

(1) 9700 (2) 9790

(3) 9800 {4) 9985 ( )




5. Arrange the following numbers from the geratest to the smallest.
840 , 804 , 884 , 848
(greatest) (smallest)
(1) 804 , 848 , 840 , 884
(2) 884 , 848 , 840 , 804
(3) 884 , 848 , 804 , 840

(4) 848 , 884 , 840 , 804

6. What is the sum of 5 609 and 1 4327

(1) 7 041 (2)6 041

(3) 6031 (4)4 177

7. The difference between two numbers is 2 549.
If the smaller number is 189, what is the greater number?

(1) 2360 (2) 2440

(3) 2628 (4) 2738



8. Mrs Kor had $400 at first.
After she bought an electric mixer, she had $311 left.
How much did the electric mixer cost?

(1) $189 (2)  $111

(3) $99 (4) %89

9.  There were 800 boys and 735 girls in Sunshine Primary School.
Mr Lim printed only 1400 copies of handbooks for the students.

How many more copies of handbooks should Mr Lim print so that
every student will get a copy?

(1) 2935 (2) 1535

(3) 135 (4) 65

10. 1 am thinking of a number. When | subtract 4 from it, the answer will
be 40. What number am | thinking of ?

(1) 10 (2) 36

(3) 44 (4) 160



Section B : SAQ (18 marks)
Questions 11 to 19 carry 2 marks each. For each of the questions, write the correct answer
in the space provided. Show your working clearly as marks may be awarded

11.  Write three thousand, six hundred and thirty-two in numerais.

Ans :

12. In the number pattern below, what is the missing number in the box?

125,130, L1 , 140, 145, 150

Ans .

13 is 1 000 less than 4 107.

Ans :




14. Tammy packed 6 tarts equally in one box.
She sold 9 boxes of tarts.
How many tarts did she sell altogether 7

Ans :

15. Use the digits 4, 1, 3, 8 to form the greatest 4 - digit evennumber.

Ans :

16.  What is the missing number in the box below ?

71 4 6
-5 2 []7
18 4 9




17. When a number is multiplied by 8, the answer is smaller than 60 but
greater than50. What is the number ?

18. A car company had 1299 cars.
It sold 368 cars inJanuary and 220 cars in February.
How many cars did the company have left at the end of February ?

19. There were 5441 books in the school library
The librarian bought 390 more fiction books and 150 more non-fiction books.
How many books are there in the library now ?

Ans :




Section C : LAQ (12 marks )
Questions 20 to 22 carry 4 marks each. Solve the problems carefully. All working must be
clearly shown as marks may be awarded.

20. Asher, Berry and Christie sold 632 cookies altogether at a fun fair.
Asher sold 197 cookies Berry sold 220 cookies.
Christie sold the rest of the cookies.
(a) How many more cookies did Berry sell than Asher ?

(b) How many cookies did Christie sell ?

Ans: (a) (2m)

(b) (2m)




21. There were 540 women and 291 men in a train at first.
At the next station, 63 women alighted from the train.
(a) How many people were there in the train at first ?

(b) How many women were left in the train at the next station ?

Ans: (a) (2m)

(b) (2m)




22 There were some strawberries in Basket A and Basket B.

There were 366 more strawberries in Basket Athan in Basket B at first.

(a) If there were 362 strawberries in Basket B, how many strawberries were there
in Basket A at first ?

(b) Then, Tina transferred 45 strawberries from Basket A to Basket B. How many

more strawberries were there in Basket A thanin Basket B ?

Ans: (a) (2m)

(b) (2m)
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b)540 — 63 = 477
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b)728 — 45 = 683
362 + 45 = 407
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